97 %
( )
1/ 2
97 5 4
1. superheated steam  1200kPa, 573K enthaly
1200kPa, 473K 2814.42 kJkg
heat capacity T (20%)
0
Ce = 3.47+0.00145T + 121OO_|_—12
2. (virial equation) P = RT /(v - B) compressibility
factor, z (20%)
z=1+ E
Tr
T °T/T.,P,°P/P. B,°BP./RT,
3. superheated steam  1200kPa, 573K cm/g
T=647.3K, P.=221.2bar, w=0.344 (20%)
(1) Pv=RT
(2 (virial equation)P(v- B) =RT
B, =B©® +wB® B, ° BP./RT,
B =0.083- 0.422/T'°
B® =0.139- 0.172/T*?
4. a ( first order) 30
75% (rate constant) (half-life) (15%)
5 A (1 mol/liter) (2 liter)
2A R -rA=0.05CA2 mmol/liter min.
CA=0.5 mol/liter (liter/min.)

(15%)
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6. A A CAO 1 moal/liter 4liter/min. 2
(15%)
Av#® R¥%¥%4® S%¥he® T
Ca=0.01 mol/liter W Cy=0.002
mol/liter A w
7. (irreversible elementary reaction) (15%)
A ¥#® R
A ¥F® g
Cao=15mole/lL Cro=Cgo=0 ( batch reactor)
@ A (conversion) X,=0.5 Cr=0.5 mole/L Cr/Cs

(b) t? 8 Ck Cs Cgrl/Cs
20 A (conversion)X,=0.75 ki ks




